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- ~ Vocabulary and Phrases : (20 &)

1. Establishing the point at which to arrest someone is an important factor in

determining the of evidence.
(A) admissibility  (B) interpretation  (C) condition (D) execution
2. If you keep backbiting me, I’ll definitely sue you for
(A) deception (B) defamation (C) exploitation (D) persecution
3. A should be ordered on prostitution.
(A) restitution (B) clampdown (C) stereotype (D) getaway
4. The young boy was caught a scooter.
(A) rolling back (B) raking up (C) ripping off (D) ripping up
5. The purpose of traffic control is two-fold, that is, to traffic and to

eliminate potential traffic conflicts.

(A) deter (B) congest (C) approach (D) expedite
6. Officers are instructed not to act towards citizens in the line of duty.
(A) professionally (B) courteously (C) prudently (D) condescendingly
7. Many people believed that the murder suspect’s actions and his continued threat to
public safety would keep him for life.
(A) incarcerated (B) impounded (C) inundated (D) engulfed

8. Report has it that a senior staffer of a leading law firm was accused of
billions of dollars in stock from an American corporate client.
(A) bedazzling (B) embezzling (C) exerting (D) luring



9. If you use other people’s research results without mentioning the original authors, it

Is thought to be copyright

(A) arraignment  (B) infrastructure  (C) infringement (D) moratorium

10. Even after they were arrested, the criminals prided themselves on and bragged

about their advanced technology in ATM devices and counterfeit credit
cards.
(A) bugging (B) preying (C) banning (D) tending

= ~ Translation : (30 &)

(=) ¢ 3 (154)

(=) #g7 (154)
Society has long looked to police departments to deal effectively with crime.
For a long time the public was content with police departments whose primary
role was to apprehend offenders, so society could hold law Dbreakers

accountable for their crimes.

= ~ Reading Comprehension : (20 &)

(=) @7 e v ¥ % 143 % 54 :

Police research demonstrated the need for agencies to evaluate the _ 1  of their
responses. Both quantitative and _ 2  data should be used as a basis for evaluation
and change. Police departments need to know more about what their _ 3  are
doing. Agencies are _ 4  to find enough resources for performing crime trend
analyses; most also do not conduct proper workload analyses to know how much

uncommitted timeis 5  to their officers.

1. (A) extradition  (B) effectiveness  (C) exile (D) episode
2. (A) illegal (B) scanning (C) qualitative (D) vandalism
3. (A) officers (B) factories (C) corporations (D) income

4. (A) preventive (B) struggling (C) approaching (D) peacemaking
5. (A) detective (B) perspective (C) reductive (D) available



(Z )T w %% 641 % 1048 :

The key to understanding organized crime is to recognize that, like corporations and
other businesses, it exists for a single purpose: to make a profit in a capitalist
economy. The key difference between organized crime and “legitimate” businesses is
that organized crime often makes much of its profit from illicit goods and services
and organized crime is prepared to use illegal means and practices, including violence,
to achieve its profit-making goals. Like legal businesses, organized crime also seeks
to gather and harness political power to assist in the conduct of its business. Once
again, however, organized crime is prepared to pursue that goal, if necessary, through
recourse to illegal methods. Actual violence is rare in organized crime activities, and
is usually related to street-level activities. While violence is bad for business, the
potential for violence is often enough to give organized crime networks a distinct

advantage in the marketplace.

6. According to the passage, the author discusses
(A) illicit enterprise and profit-making.
(B) organizational strategy of a legitimate corporation.
(C) violent interactions among corporations.
(D) organizational structure of organized crime groups.
7. Based on the passage, which statement is correct?
(A) There is no difference between organized crime and legal businesses.
(B) Actual violence is usually used by organized crime networks to occupy market.
(C) Political power can help organized crime to pursue illegal profits.
(D) Organized crime will use political power to pursue benefits, but corporation
won’t.
8. Organized crime often makes much of its profit from
(A) charity.
(B) loan-sharking, gambling and pornography.
(C) big data analysis of market.
(D) state-run businesses.



9. According to the passage, which statement is incorrect?
(A) Making a profit is the purpose for organized crime.
(B) Making a profit is the purpose for legal corporation.
(C) Even violence is not good for business, it is still helpful to organized crime
networks.
(D) Organized crime attempts to accumulate and use political power, by legal
approaches, to assist in the conduct of its business.
10. The word ""advantage™ in the last sentence most nearly means
(A) handicap.
(B) hindrance.
(C) burden.
(D) benefit.

z ~ Essay : (30 &)

Write an essay on the following topic. The length of the essay should be no less than

100 words and no more than 250 words.

The Use of Police Force

The use of force is a double-edged sword for the police. Used properly, force can help
bring criminals to justice. On the contrary, excessive or poor force use may lead to the
criticisms of state violence or public servants' inertia. What are the keys to a

reasonable and justifiable use of force? Write an essay on this issue.
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